|

B14

T A S

B14 | H |7 TSK | H H H s
- T B o g2 =T —- WAL —
HLERA LA : ey L. RFREDiyE WETEES NP:NPN B4 (H3=)
R O kT nﬂrgﬂﬁﬁéﬁ_: (somm@gE) | BLism | 105:100V/100WEAF| [L:EELCD | |PN:PNP N:FGEER) |
U_ELZZEJ: 10L:10m [205:200V/100WIL T ICC:CC-Link
RU k& £ 3K/5K/10K DN : DeviceNet ™
LD DAET CET) EP:EtherNet/IP™
RD'_EEIZE'F _— PT:PROFINET
- GW: El/OtF*
- SR1-X 05 - - - :
[EE Rzhe : DisnyE [ - WA -
05: 100WIL T E=RiY N:NPN B:H (#x=)
E:CEMf& | [P:PNP N:ZCEER) |
ICC:CC-Link
DN :DeviceNet™
PB:PROFIBUS
M. FRBEHLES A R 45 S B E IR 45 (BL/5L/10L) o AIIEIEMI R 4. i iS5 L . -
P596 ~FFIAMIHL 3 A — K, RDV-X 2 05 RBR1
#2. HRDINSHEFIEF S HP500, H188 A DR7HEE R E g Dkt B EAERE
3. i AN X IhaERT B I£R. ¥ 155 S P62, 2: AC200V 05:100WIL TR
Y =15% P
W E X N AITRHE™ N FiTFSNE
Sk AC 100 W A
ENERE" £0.04 mm
gﬂ;‘ﬁﬁ tHEF 57825 mm B
=i 1875 mm/sec [} A
agmigsl 20kg( : B c m @
1T 150 mm~ 3050 mm (100 mmi&§E . .
mi |DiE | LAERIDE fT#2+425.5 mm 7 F (R @omm  BEREEAN oo (#EN-m)
= ﬁiﬁrﬂ%iiﬁmﬂﬁ 1712+338 mm [ A B © A B | C My MP MR
FHEES A W146 mm X H94 mm 226 207 199
EERE FE 3 5m  EE 5m. 10m 5kg| 2159) 1228] 943 5kg| 1064 816| 1468
EREHTRE SRR ELE 10kg| 1389] 623 548 10kg| 564| 377| 888
LB R MR ER 20kg| 1102| 320/ 348 20kg| 305/ 156/ 615 3
SHE 16384k i/ y | - e W i A= 2%
% BEE SRR DN B ERRA T, o SHAE10,000kmi B R LETOEREEOAEH . EEE ETAE
w1 BumMES AR, o ——Z
2. L B EE (MRS TR B8) o1 B Fnaf ad =X AR 18 . 12 SR1-X05 B/
RGBT AT SRR/
RCX221/222 |5l
ﬂ*iﬁq/
RCX240/340  |pein e X
3de ri 3 .. I ., . ~
W DA REFE  DisREH DTN FideHikE, x|
CID surkrzy: | (CEDoerkTe: | ((EEDorrtzy | (QEED3sArz: | ((EEDZurcTx: | (GERED326TRE | TSX205 EEHS
RDV-X205-RBR1 | Bk i 5l
( s, T e N\
B14 R#lE(DiZHKERSR)
297.5+3 BHITE (128)
240(iF1) 90 i 70.5(E1)
2-6H7 FE10
I 3 8-M6X1.0 RE16
fHify 3
'—[iﬂ S
£2 *
*
* *
146
167 134
4-M5X0.8 RE12 50 20 o (ALEAAET002)
(HEHEELE24) _ (M6, p6H7HLE)
* T KERE= ; ; ] g |
= - 1 T - uo;
™~ 5| . T =1 S S *®
== 1
83 . 92 p= L+87.5 G 136
175 1725 60 100 BX200 A
‘ 200 ‘ M-MBX1.0 RE10 J
M [=1
L ¢ =
L3 * \
BB m— FGI01B2 REE IR e DN
301 ] . L) iE2. BB i & AT 1) NN
REH 85 cro0e D002 E2002 BREE T Bt s mitie i~ R,
H{Ti2 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 [1000[1050[1100[1150[1200[1250[1300[1350]1400]1450[1500[1550] 1600
L 488 | 538 | 588 | 638 | 688 | 738 | 788 | 838 | 888 | 938 | 988 [1038]1088|1138|1188[1238]1288|1338|1388|1438|1488|1538| 1588 1638|1688 | 1738|1788/ 1838|1888/ 1938
M 6 | 8 | 8 |8 | 8|10 10|10 [ 10 [ 12 [12 [12 | 12 | 14 | 14 | 14 | 14 | 16 | 16 | 16 | 16 | 18 | 18 | 18 | 18 | 20 | 20 | 20 | 20 | 22
A — [ 50 [ 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50
B |11 [1[1]|1|2][2]2 2333|344/ 4455551666767 |7 |7][7]8
C 240 | 240 | 240 | 420 | 420 | 420 | 600 | 600 | 600 | 600 | 780 | 780 | 780 | 780 | 960 | 960 | 960 [1140[1140[1140[1140(1140[1140[1140[1140|1140|1140[1140(1140|1140
D — [ = =T —[—=T=T=T=T=T=T=T=T=1T=T1T=T=T=T=1T="T=T=1—"12401240 240 | 240 | 420 | 420 | 420 | 600
E -— — — pa— — — -— — — [a— — — -— — — [a— — — — — — — — -— — — -— — — —
F 2|2 2]2]2 2222222222 22222233 [3[3|3[3][3]3
FMEE(kg)| 9.6 [10.2[10.8[11.4| 12 |12.5/13.113.7[14.3|14.9]15.5/16.0(16.6|17.2|17.8/18.4| 19 |19.5/20.2(20.7|21.3|21.9|22.5|23.1|23.7 | 24.2 | 24.8| 25.4| 26 | 26.6
HEX{Ti2_[1650]1700]1750]1800[1850]1900]1950]2000[20502100]2150]2200[2250]2300(2350[2400]2450/2500/2550]2600]2650]2700[2750]2800]2850(2900[29503000/3050
L 1988/2038|2088 |2138|2188|2238| 2288 2338|2388 | 2438| 2488|2538 | 2588|2638 | 2688| 2738|2788 | 2838|2888 2938| 2988| 3038|3088 | 3138| 3188|3238 3288 3338|3388
] 22 | 22 | 22 |24 | 24 | 24 | 24 | 26 | 26 | 26 | 26 | 28 | 28 | 28 | 28 | 30 | 30 | 30 | 30 | 32 | 32 | 32 | 32 | 34 | 34 | 34 | 34 | 36 | 36
A 100 | 150 [ 200 | 50 | 100 [ 150 | 200 | 50 | 100 [ 150 | 200 | 50 | 100 [ 150 [ 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 [ 200 | 50 | 100
B 8 | 8 891999 [10[10[10][10 [ 11 [ 11 |11 [ 11 [12 [ 12 [ 12 [12 [13 [ 13 [ 13 | 13 | 14 | 14 | 14 | 14 | 15 | 15
C 1140[1140[1140[1140]1140[1140[1140[1140|1140/1140[1140[1140[1140|1140|1140[1140[1140[1140|1140|1140(1140[1140(1140(1140[1140[1140[1140|1140[1140
D 600 | 600 | 600 | 780 | 780 | 780 | 780 | 960 | 960 | 960 | 960 [1140|1140|1140|1140(1140/1140[1140|1140[1140|1140|1140[1140|1140|1140[1140[1140[1140[1140
E — [ = =1 =1 —=1T=T=T1T—=T—=1—="1T—=T1T=1—=1="1—"1240240 | 240 | 240 | 420 | 420 | 420 | 600 | 600 | 600 | 600 | 780 | 780 | 780
F | 333333 333333333/ 4] 441444444 4] 4]4]4]a4
\Eﬂliﬁ(kg) 27.2]27.7128.3]28.9]29.530.130.731.3|31.9|32.4| 33 |33.6|34.2/34.8|35.4]35.9|36.5|37.1|37.7|38.3/38.9/39.4| 40 |40.6/41.2|41.8|42.4|43.0(43.6

s 210 SR1-X » 518 [ TS-X » 492 | RDV-X > 506 |




B14

e a 5 N
B14 RUMIE(DiZHLRE)
210£3 BRITE (128)
152.5(%1 90 70.5G%1
) 70 2-¢6H7 RE10 =
‘ 32 8-M6X1.0 FE16
[+ IS
* *
4-M5X0.8 12
HEARLE24
50 2o/ MERRHLERL)
- o
| 2| 3 *| —
N b R . ]
0|
o= |€ S =
I'Cj W 1 -
83 | o2 ¢ 154 78 L R
175 85 60 100 BX200 A
‘ ‘ 200 M-MBX1.0 RE10_ ‘ ‘
/ r—H =
I
| 5 2 (g
<
3 * —
BT & $ o8
& R Y\ H
J N 0 55 ||D
1. NE B PR L AR PR R( B F-@10H7: B EH-HEREE leH 185
2. Y i R HIL : -
= ?.4%]7?%{%;%%;%%% 85 C+0.02 D30.02 E£0.02 #EH-H
y,
e 3 r N
B14 RDMiF(DEATRE)
21043 ‘ BHITE (128)
152.5(%1) 90 2-g6H7 RE10 70.5(E1)
. 70
it T "7(32 8-M6X1.0 IRE16
wvd) ol
! * °
3 +
& *
- *
Lﬁﬂ — 146
134
83 92 - 4-M5X0.8 RE12 50 20 o o ||RLEEAZ00)
— 1 — o GHERR &L & ‘ 3| |lM6.o6H7IEE)
‘ 1+ 1 1
4o ‘ ‘ 2 3
< Jé & S Pl
] 5?’ o o[ S
o G 136
15 78 L
85 __ 60 _ 100 BX200 A
‘ 200 M-M6X1.0 RE10
/ e—H
% ¢ HE
T APRSARLER SO ‘ F-010H7.5EH-HEAE le—H
4] v D TN
\&25% Fedatinsd Sl SR O | s 002 D002 E£0.02 )
s 5 5 ~
B14 LUMR(BixE ERE)
210+3 BHITE (128)
152.5(%1) 90 2-p6H7 FE10 70.5(£1)
15 78 H . 35
2 11 8-MBX1.0 RE16 s P\ 15
|-=g S 1|
|
il
.‘E L%ﬁ'
3 146
134
] N 1 N 50 | ||(FLLEAEL0)
o 3 [(M6.p6H7HLE)
= + |
g N E ‘ —— E 3 AR
" | 0
M) Sty P
e [ 8 L G 136
175 85 60 100 BX200 A .
BT ‘ 200 ‘ M-M6X1.0 10 =
H 2
> S
[ 4 " N o
=
o of \ H T
1. TS EIA IR £ IR B LI B - .
g Apmani L 2 F-10H7-5EH-HERA t—H
2. R T e 85 Crooe D+0.02 E+0.02
N\ y,

SR1-X » 518 [ TS-X » 492 | RDV-X > 506 | 211






